EARAROBEEIERT — 2 N— IBISH —F

2019510828 (k) 13mPI5I28

mEEIEfF#EU C1 ¥R (xwlw | mEmml - |5 ) w8
[AE4£] 1% :450,000  ~ 23#%&:90,000  33&:68,000H . 47&:45000 M .~ 57&:22,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— e BRARS 2 4. — . — HFEE (dtEE
117l | PX—TAZ2R "3 56.0 1(1_4)8 ¥z %9 2 (433 ‘}E#%E?— o
L:Aa—-KFAFrA7 B:Y2UIy kYT EHS
7 S : o4 | BEZ 1:15.3 86 [88.4| — | 4 | 430 |FEIRL (timE)
EH gl 7h=—Xv 1> 54.0 @ 1/2) © |H0fE— .
L:ErFOvY B h=XHLITM4X =S —HBB
. . — N 4 3 | ATEKE 1:15.4 21 39.7| — 1 458 | BIWFER (dtimE)
3|7(10| E-E-TT1T 54.0 (172) (o) | (B IS
LTANNTTFY— B E-E-FF> b i)
S R s o6 | NEAS 1:15.6 9-9 38.1| — 3 514 |/N\EFL (dtimE)
4111 | SRTU—N>2— A54.0 M way | @ S5 s AR5 T
AT RS BiILLRY— bt ]
N . FEEXK :15. - . — AAZEtE (dbmE
5 2 X114 —> o4 54.0 1(31/54)8 o .8 ° 122)6 [e32855) =
RiN=—HNE BT = IS
P jt 5 | ARE= 1:15.8 4-4 39.5| — 10 | 470 |ZEBEIESL (dtimiE)
6|8[12| T>T>AN—F 54.0 F57) () | LTS
R:T7ITRAFIEI B:54 bN— b LERS
HESHK : - - 2)IEE (imd)
7 4| >¥axl -7 1R %5 54.0 ' 1'(1163'0 6 .2 6 ‘:3;1 5"-FEE75§ e
R:FHYTTIIRE BOVIETRNT Pt
S S = 4t 5 | BEXTT 1:16.4 6-6 39.7| — 8 460 | MARE (ALiEE)
sl 3| v—1x7LF1 54.0 @ o) | ) mmEE
L:7v3I7—-L B:ILFIVIL ANEHIS
. o4 | AMIEE 1:16.4 10-9 8.7 — 7 416 | REREL (dtimE)
9lsle| T~/ —21L 56.0 (745%) (+4) T%E%ﬁg:*—)t?%?’jx (#%)
RiANT =" B:TATLIVE— HBE77— L4
R H o4 | REEE 1:16.4 10-11 87| — 9 508 | /NEIET (ALiEiE)
EE 7|b=T1=2T 56.0 (75%) o) | BB
x4 avR-—5— B:JU—>EelaxF NAK BAIA
= B 5 | Wt 1:18.3 1-3 428 — 11 480 | HEEIEGL (ALimi&E)
111515 HIVIZ 54.0 (9) (-q) | BERREL
L:¥r/0704 B:drFryo-—-7 e
90 # 4 | BIE _ - | = | = | = [mE GusE)
x| gl11| H>Av 7 56.0 (BH) (—) | BisH
R/ TV B:YI7€XINLTy b HRSE EH77—L4
® I —F—EBIERL
13—7—
23—7F—
33—7+— |[5,10,9,12,2,3,4,8,1,(6,7)
4A0—F+— 10,9,5,(2,12),(3,4,8),(1,6) ,7
[ RN
B OB 9 200H 714K 8-9 420M e & 6-7 1,040 &R 8-9-10 820M
7 B 9 100 9-10 1400 | | BB & 8-9 1,400/ | | 3=& 9-8-10 4,520M
8 200 8-10 610M B H# 9-8 2,090
10 110

ABICOVWTRDTEEERROODE. TR LIV,




